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Aufgabe 1

Stelle den Bruch als Prozentsatz dar.

a) 201
500 b) 127

1000 c) 227
250 d) 14

25 e) 351
1000 f) 22

125
g) 261

1000 h) 487
500 i) 7

25 j) 741
1000

Aufgabe 2

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 69
100=69% b) 21

100 c) 7
50 d) 13

100 e) 24
25 f) 4

25
g) 71

100 h) 47
100 i) 51

100 j) 9
25

Aufgabe 3

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 213
400 = 5325

10000=53,25% b) 2957
5000 c) 4413

5000 d) 2221
5000 e) 9861

10000
f) 9719

10000 g) 9543
10000 h) 5987

10000 i) 19
100 j) 1637

2000

Aufgabe 4

Stelle den Bruch als Prozentsatz dar wie in Beispiel a).

a) 19
100=19% b) 41

100 c) 23
50 d) 43

100 e) 23
100 f) 37

50
g) 11

100 h) 7
20 i) 191

1000 j) 13
100

Viel Erfolg!
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